
1

Assembly  Instruction



2

1

2

3

4

8pcs

3pcs

5

6

7

Allen Bolt 60mm
    Bolt 5/16''x60mm

Allen Bolt 40mm
    Bolt 1/4''x40mm

Allen Bolt 30mm
    Bolt 1/4''x30mm

 Flat washer
5/16''x16x1.5mm

8pcs

 Flat washer
1/4''x16x1.5mm

7pcs

1pcAllen key
 M4x59mm

    Bolt 1/4''x20mm

4pcs

Allen Bolt 20mm 8pcs

A B

C D

E F

1PC 1PC

1PC

G H

2PCS

1PC 1PC

4PCS

HARDWARE  LIST:

4PCS



3

A

B
C

C E

F

G
D

Please don't tighten the screws until all the screws
are put into the hole. And if there is any problem,
please contact us and we will help you to solve it.

H



H

C

C

H

Step #1

Assmbly Instructions

4



5

Step #2

Step #3

C

C

5 1
7

Allen Bolt 60mm
5/16'' x 60mm

1

x8

 Flat washer
5/16''x16x1.5mm

5

x8

Allen key
 M4x59mm

7

x1

G

A

4
7

Allen Bolt 20mm
1/4'' x 20mm

4

x8

Allen key
 M4x59mm

7

x1

4
7

G

G



6

Step #4

Step #5 Allen Bolt 30mm
1/4'' x30mm

3

x4

 Flat washer
1/4''x16x1.5mm

6

x4

Allen key
 M4x59mm

7

x1

7

3

6

Allen Bolt 40mm
1/4'' x 40mm

2

x3

 Flat washer
1/4''x16x1.5mm

6

x3

Allen key
 M4x59mm

7

x1

6
2

7

D

F

B

F



7

Step #6

Step #7

E

1

2



8

1

2
3

Way to Adjust the Backrest

From the bottom to the top:
First click: locking into recline.
Second click: releasing recliner.
Third click: locking into chair.

Way to Adjust the Footrest

1

2

2

1

1
2 3

4


